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Decutsche Geschichte und Kultur
Hinweis: Mit den folgenden Fragen werden Ihre Kenntnisse Im Bereich ,,Deutsche

Geschichte und Kultur“ gepriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie
sich dann fiir die richtigen Antworten!

S1- Der offizielle Name von Ostdeutschland vor der deutschen Einheit war ----------,
1) Deutsche Demokratische Republik 2) Demokratische Deutsche Republik
3) Demokratische Republik Deutschland 4) Republik Deutschland
S52- Als Legislaturperiode wird ---------- genannt.
1) die Dauer, in der eine Regierung Macht besitzt,
2) die bestehende Koalition zwischen den Parteien
3) die Zeit, in der eine Partei die stirkste Kraft ist,
4) der Zeitraum zwischen zwei Wahlen eines Parlaments
53- Inden deutschen Lindern (mit Ausnahme von Bremen) betriigt die Dauer der Wahlperiode

der Landesparlamente -----——--- Jahre.
1) zwei 2) vier 3) drei 4) funf
S54- Als Folge der Niederlage Deutschlands im Ersten Weltkrieg entstand ---------- ,
1) Weimarer Republik 2) Erste Republik
3) Zweites Reich 4) Drittes Reich
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55- Uber den Haushalt eines Bundeslandes entscheidet der ---------- .
1) Landrat 2) Landtag 3) Bundestag 4) Bundesrat
56- Der Chef (die Chefin) der Regierung eines Bundeslandes in Deutschland ist ---------—- .
1) Bundeskanzler (Bundeskanzlerin)
2) Bundesprisident (Bundesprésidentin)
3) Ministerprisident (Ministerprésidentin)
4) Bundestagprisident (Bundestagprésidentin)
57- Der Tag, an dem Bundeskanzleramt, Bundespresseamt und 14 Miniosterien besichtigt
werden, wird als Tag ---------- 5
1) der Toleranz und Versdhnung
2) der offenen Tiir der Bundesregierung
3) des Respekts vor deutschen Tugenden
4) der Offenheit gegeniiber den Bundesbiirgern

58- Die Exckutivgewalt auf Bundesebene iibt ---------- aus.
1) Bundesgerichtshof 2) Bundestag
3) Bundesrat 4) Bundesregierung
59- Osterrcich wird amtlich als ---------- bezeichnet.
1) Republik Osterreich 2) Monarchie Osterreich
3)Fiirstentum Osterreich 4) Bundesstaat Osterreich

60- Die offiziellen Amtssprachen in der Schweiz sind ---------- 3
1) Deutsch, Italienisch, Englisch
2) Deutsch, Franzosisch, Italienisch
3) Deutsch, Franzosisch, Italienisch, Englisch
4) Deutsch, Franzdsisch, Italienisch, Rdtoromanisch

Grammatik
Hinweis: Mit den folgenden Fragen werden Ihre Kenntnisse im Bereich ,, Grammatik“ gepriift.

Lesen Sie bitte sorgfiltig die Fragen und entscheiden Sie sich dann fiir die richtigen
Antworten!

61- Martin -----—--—-- (Prisensform von mahlen) Kaffec.
1) mahlt 2) mihlt 3) miehlt 4) mehlt
62- Der Satz ,,Auf dieser Strafle ist es nur erlaubt, 100 Km/h zu fahren“ ist unter anderem
durch den Satz ,,Auf dieser Strafle ---------- man nur 100 Km/h fahren.*
1) kann 2) soll 3) muss 4) darf
63- -——---me- Sandra nicht mehr so viel Freizeit hat, gefiillt ihr ihr Studium immer noch.
1) Zumal 2) Obwohl 3) Aufler wenn 4) Falls
64- Die richtige Pluralform von ,,Trauma“ ist unter anderem ,, ---------- o
1) Traumata 2) Trdume 3) Traumatas 4) Traumati
65- Die Negation des Satzes ,,Er kann sogar Chinesisch sprechen ist ,,Er kann Chinesisch
sprechen.*
1) nicht einmal 2) nicht 3) auf keinen Fall ~ 4) selbst kein
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Wortschatz

Hinweis: Mit den folgenden Fragen werden Ihre Kenntnisse im Bereich ,,Wortschatz“ gepriift.
Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie sich dann fiir die richtigen Antworten!

66- Ohne gute ---------- hiitte ich das Examen nicht bestanden.
1) Ermutigung 2) Vorbereitung
3) Herausforderung 4) Auseinandersetzung
67- Der Einsatz von Robotern fiihrt unweigerlich zum ---------- von Arbeitskriften.
1) Absatz 2) Abbau 3) Verzug 4) Fortbestand
68- Man hat vor, in diesem Betrieb in naher Zukunft auch optische Geriite ---------- .
1) anzustellen 2) abzustellen
3) herzustellen 4) zusammenzustellen
69- Als -—----mm-- bezeichnet man in der Wirtschaftswissenschaft die Marktentwicklung auf
cinem Markt, in der die Menge des Angebots gleich der Nachfragemenge ist.
1) Marktkompromiss 2) Marktgleichgewicht
3) Wirtschaftsausgleich 4) Wirtschaftstoleranz

70- Okonomie steht fiir Wirtschaft, Aufwendungen und Ertrige, um den Unterhalt des
Menschen zu ---------- .
1) p6beln 2) tilgen 3) quittieren 4) sichern

(gt lailanl 5 Uj 1) ¥ (U pol Ky g 21 )b 9 (2 Ll )

71-  ;Cuail fue el primer capital de los espaiioles en Mesoamérica?

1) Lima 2) Cuzco 3) Tenochtitlan 4) Rio de la Plata
72-  ;Cual fue la primera isla americana a la que Colén llegé el 12 de octubre de 1492?

1) Haiti 2) Colombia

3) Habana 4) Una isla en Bahamas

73-  ;Qué accleré la derrota del Imperio inca frente a los espaiioles?
1) El ataque fue inesperada y aplastante.
2) Sobornar a los caciques de Inca por los espafioles.
3) El gjercito de los espaiioles fue mucho mas avanzado y preparado.
4) La muerte de su lider espiritual y el rencor de los cuzquefios hacia el Inca.
74- ;Por qué La Baja California nunca formé parte de la conquista de los espafioles?
1) Porque estaba bajo el control de los jesuitas.
2) Porque Hernan Cortés nunca se intereso por esta parte de América.
3) Porque era una zona arida y extremadamente dificil de abastecer.
4) Porque desde el primer dia de su conquista se formaron sublevaciones contra los

espaiioles.
75- ;Cual fue la conquista mas prolongada para los espaiioles?
1) La conquista de Haiti 2) La conquista de Yucatan
3) La conquista de Rio de la Plata 4) La conquista de la isla de Trinidad

76- ;Por qué los espaiioles fortalecieron su sistema defensivo maritima?
1) Para enfrentar con los piratas.
2) Para enfrentar con los ingleses, francés y holandeses
3) Para asegurar la exportacion de la plata americana.
4) Para evitar de las sublevaciones de los negros llegados de Haiti.
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77-

78-

79-

80-

84-

85-

86-

87-

88-

89-

90-

(Cual fue la principal causa del conflicto entre Inglaterra y Espaiia?

1) La rivalidad comercial entre ambos paises en las Indias Occidentales.
2) Inglaterra buscaba su parte en el Nuevo Mundo.

3) El ataque de los espafioles a Inglaterra para conquistarlo.

4) Los ingleses rompieron el Tratado de Madrid.

¢ Qué grupo social inici6 las primeras rebeliones contra los espaiioles?

1) Las mayas 2) Los negros 3) Los caciques 4) Los jesuitas
(Para qué fue vital la esclavitud africana en américa hispanizada?
1) Para sustituir a los indigenas.

2) Para controlar las sublevaciones.

3) Para trabajar en las minas y minerias.

4) Para el desarrollo de los cultivos tropicales.

(Qué razones tenia la monarquia espaiiola para monopolizar el comercio en sus

dominios americanos?

1) Acabar con el dominio de los portugueses en la region.

2) Controlar la navegacion de los ingleses por las atlanticas.

3) Acabar con las ventajas exclusivas de Cristébal Colén y sus aliados.

4) Vigilar e impedir el acceso a Indias de personas indeseables politica o religiosamente.

Quizg ---------- a la playa.

1) ibamos 2) Vayamos 3) Vamos 4) Fuéramos
---------- la reunién porque me parece que no es posible llegar a un acuerdo.

1) Termino 2) Voy terminando

3) Dejo terminada 4) Doy por terminada

Ilabra que resolver ese problema ---------- lo mas pronto posible.

1) acuciado 2) acucioso 3) acuciante 4) acuciosa
Un ------e--- de insectos se apoderé del patio.

1) jauria 2) banco 3) enjambre 4) trailla
Los separatistas vascos siempre han organizado sus atentados ---------- .

1) a espaldas 2) bajo cuerda

3) por espalda 4) a cuerdas y espaldas

En su biblioteca habia libros, pero ---------- espaiiol.

1) ni uno 2) ni un 3) nada 4) ningun

Alicia tenia dinero ahorrado y compré un flamante auto.
Es una oracién...

1) causative 2) consecutiva

3) causa, consecuencia 4) causa, efecto

Las plantas toman del suelo los nutrientes ---------- los transforman en savia.
DY 2) ademas

3) hasta que 4) por consiguiente

Me gustaria ir al cine, ---------- esta lloviendo.

1) mas 2) sin embargo 3) no obstante 4) con todo

Pero, perdone, usted me habia hecho una pregunta, ;verdad?

Es un acto de habla:

1) ilocutivo, intencional 2) locutivo, intencional

3) perlocutivo, convencional 4) perlocutivo, no convencional
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Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In 1872, the term Japonisme was created by French art critic Philippe Burty to
describe the dissemination and incorporation of Japanese art, culture, and study in the
West. It is difficult to imagine that the country of Japan, also previously known as the
Empire of the Sun, was closed off to the West for centuries.

Japanese art and limited edition prints are highly regarded as symbolic mementos
of the first Japanese artifacts that circulated the West and spawned ardent creativity
and advancement in postmodern times. Ukiyo-e prints made by Japanese print masters
like Utagawa Kuniyoshi, Utagawa Hiroshige, and Tsukioka Yoshitoshi sparked the
Japonisme craze that changed and shaped the course of Western intellectualism and
thought. Prints like these have become in demand and are in the constant forefront of
auctions, institutional acquisitions, exhibitions, and publications. Academic and public
interest in Japonisme and Japanese culture has persisted over time with organizations
and fields of research dedicated to recognizing Japan’s importance in history, culture,
art, and design, and will continue on for future insight and understanding.

91- The best title for this passage is -==------- ‘

1) Japanese Art After 1872

2) Coining the Term of Japonism

3) History of Japanese Arts in the World

4) The Influence of Japonism in the West
92- Japanese art and limited edition prints are ---------- ’

1) highly regarded as the first crafts in Japan

2) the artifacts created in postmodern times

3) the symbolic mementos of all Japanese artifacts

4) the first Japanese artifacts spreading in the West
93- The word “sparked” in paragraph 2 can be substituted by ---------- ’

1) checked 2) activated 3) modified 4) saved
94- It is referred in the passage that ---------- .

1) Japanese culture has still unknown aspects for westerns

2) the westerns called Japan as the Empire of the Sun for centuries

3) western intellectualism and thought were shaped by Japanese art masters

4) Japan has introduced its art to the west through exhibitions, publications and etc.
95- According to the passage, Japanese art ---------- .

1) is so difficult not be easily understood

2) was disseminated to the West by French artists

3) was created by an art critic called Philippe Burty

4) was introduced to the West after the 2nd half of the 19¢
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PASSAGE 2:

India and France have much to gain from mutual trade and investment in goods and in
services. The potential is vast. Past patterns of trade and investment indicate that
synergies present were not reaped in trade nor designed in value chains of mutual
investments. Trading in commodities where comparative advantages are noticeable
would benefit both countries. The neglect in developing Indo-French Economic
Relations cannot be overcome through political dialogue. Rather, a higher mutual
cconomic engagement threshold through systematic removal of institutional
impediments could pave the way for actualization of Indo-French trade and investment
potential, which in turn, may ignite political interest.

Gateways need to be designed to facilitate and foster confidence at both ends.
Bilateral aid is not the only form of economic assistance. Many Indo-French
investments could qualify for project-based concessional financing in France and in
India. Businesses, industry representatives, researchers in academia and policy-makers
need to work on further, possibly together, to solve some of the problems identified in
this study and to conduct deeper investigations at sectoral level, for services trade and
for product-services linkages to design and evaluate the viability of many more
profitable avenues of potential trade and investment. The magnitude of this
challenging task is inviting but daunting. The vast scope and potential for the under-
developed Indo-French Economic Relations calls for new initiatives and new horizons.

According to the passage, Indo-French economic relations ---------- .

1) have not been developed to their potentials

2) have been implemented through political dialogues

3) have been restricted to just trading in commodities

4) have clarified their common features in other sections

Systematic removal of institutional impediments ---------- s

1) facilitates rendering services in other territories

2) makes political interest ignite prior to other interests

3) requires more mutual synergies and investments in goods

4) is the prerequisite for improving the trade relations between two countries
Performing more work on all of the following, as stated in the passage, contributes to
solve the present problems in trading relations EXCEPT ---------- A

1) policy makers 2) industry representatives

3) deeper researches 4) businesses

The word “daunting” in paragraph 2 means ---------- s

1) frightening 2) unbelievable 3) disappointing ~ 4) confusing

Which sentence, based on given information in the passage, is NOT true?

1) Economic assistance is one form of bilateral aid that needs to be designed.

2) Enforcing bilateral confidence is necessary for expanding economic relations.

3) There are institutional barriers on the way for actualization of Indo-French trade.

4) Creating many more profitable avenues of potential trade and investment is a
challenging skill.
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PASSAGE 3:

Napoleon centralized power in Paris, with all the provinces governed by all-powerful
prefects whom he selected. They were more powerful than royal intendants of the
ancient régime and had a long-term impact in unifying the nation, minimizing regional
differences, and shifting all decisions to Paris.

Religion had been a major issue during the Revolution, and Napoleon resolved
most of the outstanding problems. Thereby he moved the clergy and large numbers of
devout Catholics from hostility to the government to support for him. The Catholic
system was reestablished by the Concordat of 1801, so that church life returned to
normal; the church lands were not restored, but the Jesuits were allowed back in and
the bitter fights between the government and church ended. Protestant, Jews and
atheists were tolerated.

The French taxation system had collapsed in the 1780s. In the 1790s the government
seized and sold church lands and lands of exiles aristocrats. Napoleon instituted a
modern, efficient tax system that guaranteed a steady flow of revenues and made long-
term financing possible.

The modern era of French education began in the 1790s. The Revolution in the
1790s abolished the traditional universities. Napoleon sought to replace them with new
institutions, the Ecole Polytechnique, focused on technology. The elementary schools
received little attention.

101- All of the following, based on the information given in the passage, are the effects of

powerful prefects EXCEPT ---------- s
1) following Napoleon’s orders 2) unifying the European nations
3) delegating all decisions to Paris 4) decreasing regional differences

102- Before Napoleon, according to the passage, ---------- "

1) government was under the support of church

2) church was more powerful than government

3) there were serious conflicts between church and government

4) the clergies and large numbers of Catholics had to leave the country
103- It’s stated in the passage, Napoleon ---------- 4

1) reformed the tax structure

2) formed the foundation of tax system

3) returned the seized lands to their owners

4) made the French taxation system collapse
104- The word “abolished” in paragraph 4 means ---------- .

1) created 2) improved 3) terminated 4) minimized
105- The revolution in France ---------- "

1) replaced institutions with universities

2) focused on technology instead of universities

3) led to transformation in educational system

4) caused the elementary education to be reinforced
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All of the following are true about the Battle of the Boyne EXCEPT ---------- .

1) it happened on July 1, 1690

2) William III defeated James II

3) it took place in the Kingdom of Ireland

4) James II retook his throne through an alliance with Ireland and France

The Victorian era was marked by ---------- i

1) rose-colored bricks and Portland stones

2) delicate arabesque ornament in low relief

3) strong massing of shapes and large-scale grandeur

4) imitating historical styles, mainly Gothic and Classicism

The leading 18th century caricaturists were -----=---- ;

1) James Gillray and William Hogarth

2) George Stubbs and William Hogarth

3) James Gillray and Thomas Rowlandson

4) Thomas Rowlandson and George Stubbs

Which one is NOT true about the Scottish Parliament?

1) The parliament is a democratically elected body comprising 129 members.

2) The Scottish parliament is located in Holyrood area of the capital of Edinburgh.

3) The parliament has the power to pass laws and has limited tax-varying capabilities.

4) Its members are elected for six-year terms under the mixed proportional representation
system.

Who was the first First Minister of Scotland from a party other than Labor?

1) Alex Salmond 2) lain Gary 3) Annabel Goldie 4) Ruth Davidson

The chief philosophies of 19th century Britain were ----------

1) Liberalism and Positivism 2) Positivism and Linguistic

3) Utilitarianism and Liberalism 4) Logical Positivism and Analytical

The Anglo-Irish Agreement ----------

1) gave Dublin a greater say in the future of Northern Ireland

2) stated that the people of Ireland should be free to decide their own future

3) was signed by Mrs. Thatcher and the Irish Taoiseach Garret FitzGerald in 1982

4) made the south of Ireland receive independent dominion status as the Irish Free State

The United Kingdom joined the European Economic Community in ---------- .
1) 1962 2) 1969 3) 1970 4) 1973
The Welsh Revolt was ---------- :

1) sometimes known as the Last War of Independence or Glyndwr Rising

2) an uprising that took place between 1410 and 1415, led by Owain Glyndwr

3) the major Welsh independence movement made Wales incorporated into England
4) a war of independence with the aim of ending English rule during the Late Middle Ages
How many political parties with seats are currently in the UK?

1)6 2)8 3)9 4)11

All of the following are the main functions of monarch as head of state EXCEPT ——-—-—--.
1) to open new sessions of parliament

2) to bestow honors and appoint the prime minister

3) is constitutionally obliged to follow the government’s advice

4) to give royal assent to bills passed by parliament, signifying that they have become law
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117- The Edwardian era spanned ---------- .
1) just nine years 2) from 1900 to 1910
3) just eleven years 4) from 1901 to 1913
118- In 2009, ---------- 2
1) Global financial crisis plunged the UK into recession
2) Britain withdrew most of its troops from southern Iraq
3) the general election in May left the Conservative Party as winners
4) Britain played a prominent part in the international intervention in the conflict in Libya
119- The phrase, the Beast from the East, was coined to describe ---------- i
1) the Irish Great Famine
2) the Winter of Discontent
3) foot and mouth crisis hitting farmers
4) the blistering cold snap hitting the UK
120- On Fcbruary the 6th, 2022 ---------- ”
1) Storm Malik left tens of thousands of homes in Scotland and England without power
2) Queen Elizabeth II became the first British Monarch celebrating a Platinum Jubilee
3) Buckingham Palace announced that Prince Andrew's military affiliations and royal
patronages have been returned to the Queen
4) Britain delivered some 2,000 anti-tank missile launchers to Ukraine and allegedly
flew surveillance missions in support of a potential Russian invasion

o) Hbj ) dwg) Kb 5 9 2,6 9 w9y OUJ

A. I'pammaTHKa pyccKOro si3bika:

HucTpykuusi: B kaxaom Bonpoce BbioepHTe 1IPaBHJIbHBIA BapHaHT.

121- IlecmoTps Ha TO, 4TO 3KOHOMHKA PoccuM ---------- He JIyqiIHe BpeMeHa, ¢ KaKIbIM
rojioM NpUTOK uHBecTHUMii B Poccuio yBeanunsaercs.
1) oTxuBaet 2) HaXXMBaeTcA 3) nepexxuBaeT 4) 3a)xuBaeT

122- B 3anax ---------- Ka>KABbIH JKCNOHAT, KAXKIABIA CTEH],.
1) npouuiu 2) obomum 3) yuutu 4) orouutu

123- 1Iérp 3aBuayeT------=--- » KTO IIPOBO3rJjIaliaeT KOMIIAHHIO.
1) Tex 2) TeMH 3) Tem 4) o Tex

124- Ceno Tapxanbi 66110 ---------- uMenHeM 6abymku Oyaymero nmosra.
1) ponoBbIM 2) OAHBIM 3) pOACTBEHHBIM 4) po>xIEHHBIM

125- --ememeee- B TOM, YTO BC€ KPbLIO OCBEAOMJICHO 0 HalleM HAXO0KACHHH TaM, fl MepPeCTajia
IIPAKTHKOBATD YTEeHHE.
1) Y6eauBuucey 2) Y6enurbcs 3) Y6exnEHHbIi 4) Yoenunuce

126- B BGepaune nocie pecrappanun —--—-- 3namenutsie Bpannen6yprexue Bopora. Yennosex,
KOTOPOMY -—-——-- CHATDH ¢ HUX NNOKPBIBAJIO, —--—--— K BeplIHHe BOPOT HA BO3XYLIHOM IIape.

1) OTKpBIBAINCH-A0BEPAIU-TIOAHUMAIICS
2) OTKpPBUIKCH - JOBEPAIU-IIOAHUMAIICS
3) OTKpBUIHCH - IOBEPHIIU — NOJAHUMAIICA
4) OTKpBUIMCh-A0BEPHUIN-TIOHAJICA
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127- Ykaxure psii, B KOTOPOM 00a ¢/10Ba OTHOCATCH K )KCHCKOMY pOJy.
1) renb, 3aNIUChH 2) KpoBaTh, JIOIAAb
3) nBepb, 3Bepb 4) nnowmaap, WaMIyHb
128- YKakuTe BAPHANT, B KOTOPOM YHC/IHTEJIBHOE YIIOTPEO/IEH0 BEPHO.
1) ¢ naruaecaTucTaMu py6asmMu
2) B IBYX THICAY MATOM TO1y
3) okoJ10 MONTOpa JHEHM
4) OKOJIO TPEXCOT CEMUIECATH TPEX TOHH
129- B kakom cJI0Be Ha MeCTe NpoIycKa numercs 6yksa «O»?

1) M3BECTHBI p...CTEHUEBO 2) Be4HO3€EIEHBIE P...CTCHUA
3) IOHOILECKUii BO3P...CT 4) ManeHbKHH p...CTOK
130- YkaxkuTe BAPHAHT, B KOTOPOM B 000HX CJIOBaX NPAaBH/ILHO BbIEJICHO YAapeHHe.
1) HAuan, HayAna 2) HayanAcb, HayanOcCh
3) 6pAna, GpAio 4) BeiIA, BbIuno

B. Pycckasi HCTOpHSA M KYJIbTYpa:

Uncrpykuus: B kaxaom Bolpoce Bbi0epuTe NpaBH/IbLHBIH BApHANT.

131- Kak na apeBueii Pycn Ha3bIBaJH M0JTHYCCKHE CKA3aHUA 0 NPOULJIOM, MPOCJIABJIABIINE
IOABUIH PYCCKHX OoraTnipei?

1) noamel 2) GBUIHHEI 3) neronucaHus 4) 6annansl
132- B kaKom ropoae KHs3b BIaiHMHp I0OCTPOMI NIEPBYIO KAMEHHYIO HEPKOBL?
1) B Mockse 2) B Hosropoune 3) B Kuese 4) B SIpocnasne

133- YkauTe co3aaTeieii cJ1aBAHCKOl a30YKH M IIPOIIOBEIHHKOB XpHCTHANCTBa Ha Pycn?
1) Kupunn u Medoanii
2) kuarung Onera v KH43bs Biaaumup
3) mutponoaut Winapuox u neronucen Hecrop
4) npenepycckuii noat-nesenl basn u kna3p Spocnas
134- Ckoabko 6amen y MockoBckoro Kpemas?

1) 25 2)20 3) 10 4) 14
135- B xaxom roay 6nu1 ocnoBan Cankr-IlerepOypr?
1) 1703 r. 2) 1700 r. 3)1721r. 4) 1725 r.

136- B kaxom roay raasamu rocyaapers CHI' 6bu10 moanucano Cornamenne o Co3anuu
MeKrocyiapeTBeHHOro 3KoJornuecKkoro copera crpan CHI™?

1) 1993 2) 1995 3) 1996 4) 1992

137- B kakoM roay ObLIM YCTaHOBJICHBLI JHILIOMATHYECKHE OTHOMICHMS MEXKIY CIIA u
obiBiuumM CCCP?
1) 1922 2) 1928 3) 1933 4) 1930

138- Kakoii XyaoxecTBeHHbIH TBopueckuii mMcron B 1932 roay mpoBo3rjacui IepBoIit
Beecoro3nblii ¢be3/l COBETCKHX MucaTe/ci?

1) MonepHU3M 2) COLMATMCTUYECKMI pean3M

3) noctMOAEpHHU3M 4) neopeaausm
139- Anapeii Py6aes, ®eodan I'pek, Iuonucuii — H3BCCTHBIE PYCCKHE ---------- A

1) nkoHOMUCLBI 2) NOJKOBOJLIBI 3) nucarenu 4) apXUTEKTOPHI
140- Kto sBasercs apropom 12-romuoi «Mcropuun rocyrapersa Poccuiickoro»?

1) M.M. ConosseB 2) M.B. JlomoHOCOB

3) MLIL Iloroaun 4) H.M. Kapam3un
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Partie A: Frangais général
Trouvez la bonne réponse:

141- Il n’a pas tenu les promesses qu’il nous avait ---------- .

1) fais 2) fait 3) faits 4) faites
142- - les postes sont ---------- , veuillez renouveler votre appel.
1) Tous / occupés 2) Tous / occupées
3) Toutes / occupés 4) Toutes / occupées
143- J’assume des fonctions de directeur financier, bien que je ---------- pas le titre.
1) n’ai 2) n’aie 3)n’en ai 4) n’en aie
144- De nombreux collégues s’étaient ---------- de la date de son anniversaire.
1) souvenus 2) souvenue 3) souvenu 4) souvenues

145- Quelle phrase ne contient pas de participe présent?
1) Vous avez su vous montrer convaincant.
2) Depuis son accident, mon frére ne se déplace plus qu’en claudiquant.
3) Convainquant ses collégues, il est parvenu & mener son projet a bien.
4) 11 va finir par attirer 1’attention de la police zigzaguant ainsi sur la route.

146- Je vous ---------- quand ---------- ma décision.
1) aurai prévenu / ai pris 2) préviendrai / j’aurai pris
3) préviendrais / j’aurais pris 4) aurais prévenu / avais pris

147- Quelle est 1a bonne formulation?
1) Comment étais-je censé le savoir?
2) Ou sommes-nous sensés nous réunir?
3) Cette colle est sensée adhérer a toutes les surfaces.
4) Un rapport de ce type est sensé contenir une centaine de pages.

148- Avant qu’une chose ---------- , on ne peut la faire. Mais qu’aprés qu’elle ---------- , elle
n’est plus a faire.
1) n’est faite / est faite 2) n’est fait / est fait
3) ne soit faite / est faite 4) ne soit faite / soit faite
149- Un petit accent peut tout changer, alors n’oubliez pas ---------- ajouter un quand vous
écrivez que vous ---------- mettez du votre. '
dy/y 2)d’y/en 3)d’en/y 4)d’en/en
150- -————-- fuie ses responsabilités, les actionnaires -——---— renouvellent - -- confiance.
1) Pour qu’il / lui / sa 2) Bien qu’il / leur / sa
3) Afin qu’il / leur / leur 4) Quoiqu’il / lui / leur

Partie B: Histoire et culture générale francaiscs
Trouvez la bonne réponse:

151- En France, le président de la République dispose de tous ces pouvoirs sauf un. Lequel?
1) Droit de grace
2) Chef des armées
3) Pouvoir de dissolution de I’assemblée nationale
4) Nommer les présidents des conseils régionaux
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En France, ---------- est le plus petit salaire autorisé par la loi si la personne travaille au
moins 35 heures par semaine.

1) Le SBN 2) Le SMIC 3) Le SMMC 4) Le SBMC
Renaissance est un parti politique francais fondé¢ en par

1) 2009 / Philippe Poutou 2) 1920 / Ludovic-Oscar

3) 2016 / Jean-Luc Mélenchon 4) 2016 / Emmanuel Macron

Comment se nomme Paris a ’époque ou la ville était colonisée par les Romains?

1) Lutetia 2) Parisii 3) Oppidum 4) Lugdunum

La révolution frangaise de ---------- a mis fin 4 la monarchie de Juillet, en chassant le roi
Louis-Philippe ler, et a établi la Seconde République.

1) 1789 2) 1830 3) 1848 4) 1812

Queclle est, en euros, la principale production agricole francaise?

1) Le lait 2) Les céréales

3) Les fruits et légumes 4) Les productions animales

Figure emblématique de la philosophie des Lumiéres, Francois-Marie Arouect est également
appelé ---------- A

1) Diderot 2) Voltaire 3) Rousseau 4) Montesquieu

En France, les taux de 'impot 2022 s’étagent entre et ‘

1) 11% a 30% 2) 11% a45%

3)30%a41% 4)30% a 45%

Depuis la Révolution francaise, les juridictions sont divisées en deux ordres. Lesquels?
1) Ordre judiciaire et ordre administratif

2) Ordre juridictionnel et ordre judiciaire

3) Ordre administratif et ordre administrateur

4) Ordre administrateur et ordre juridictionnel

En France, quel est le role de la Cour de cassation?

1) Elle se prononce sur la correcte application de la loi.

2) Elle veille notamment & la conformité des lois avec la constitution du pays.

3) Elle s’assure du bon emploi de I’argent public et d’en informer les citoyens.

4) Elle juge les personnes accusées de crime, de tentatives et de complicités de crime.

el 35 ) ki Sy 9 iy

The most widely known classical Sanskrit religious literature books of Hinduism are —--——--.
1) Zeus and Jupiter 2) Lakota and Pawnee

3) Glooskap and Manabus 4) Mahabharata and Ramayana
Structurally, ---------- in India includes three to four living generations.

1) Exogamy 2) Polyandry 3) Joint family 4) Monogamy
Millions of Indian soldiers were deployed during the ---------- serving in the Indian Army
as part of Britain's imperial war effort.

1) World War 1 2) Anglo-Zulu War

3) Suez Canal War 4) Indian War of Independence

Who was the first Indian Foreign Minister after its independence from Britain?

1) Indira Gandhi 2) Narasimha Rao

3) Jawaharlal Nehru 4) Lal Bahadur Shastri

Indira Gandhi was assassinated by Satwant Singh and Beant Singh who were from ------ .
1) India 2) Pakistan 3) Kashmir 4) Afghanistan
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166- Holi, also known as the Festival of Colors, the Festival of Spring, and the Festival of Love, is
an ancient Hindu religious festival that celebrates the eternal and divine love of ———.

1) Shiva 2) Brahma 3) Lakshmi 4) Radha Krishna
167- The operation carried out between 1 and 8 June 1984, and removed leader Jarnail Singh
Bhindranwale and his militant followers from the buildings of the Harmandir Sahib
complex in Golden Temple was codenamed ---------- .
1) Operation Rakshak 2) Operation Blue Star
3) Operation Safed Sagar 4) Operation Desert Shield
168- Historically, divorce was ---------- in Hindu marital relationships.
1) allowed 2) forbidden
3) discouraged 4) legally banned
169- The country that was created in 1971 as a result of war between India and its neighbors
was named ---------- 2
1) Burma 2) Bhutan 3) Bangladesh 4) West Pakistan
170- Who is known as the architect of Indian economic liberalization?
1) Rajiv Gandhi 2) Narendra Modi
3) Mahatma Gandhi 4) Manmohan Singh
171- Daughters have ---------- to inherit joint Hlindu family property.
1) equal rights like sons 2) no rights unlike sons
3) one-fourth of sons’ right 4) unequal rights compared to sons
172- The Hindu New Year’s Day in India is celebrated ---------- .
1) on different days throughout India
2) on a special day throughout India
3) simultaneously with the Holi festival
4) on a special day as in Gregorian calendar
173- There is ===-=----- worship service in Hinduism.
1) a daily 2) a weekly 3) a set time 4) no set time
174- Hinduism is known for being founded by ---------- .
1) Rama Krishna 2) Shiva and Lakshmi
3) no historical figure 4) known historical figures
175- The earliest sacred text of Hinduism is known as ---------- ,
1) the Sutras 2) the Suttas 3) the Vedas 4) the Bhagavad Gita
(Sl b ) (Hlos 15 ol Ky 5 80/ 6
176- The NEW JERSY PLAN was introduced in ---------- .
1) July 4, 1776 2) March 10, 1963
3) June 15, 1787 4) October 16, 1941
177- “Fireside Chats” Refers to which president of the US communicating with the American people?
1) Herbert Hoover 2) F.D. Roosevelt
3) Ronald Reagan 4) George W. Bush
178- The transcontinental railroad was built in ---------- .
1) 1788-1832 2) 1863-1869 3) 1898-1920 4) 1920-1955
179- Four major elects from Virginia CONA Colon known as the Virginia Dynasty are---------- A

1) Andrew Weyth, James Madison, John Marshall, George Washington

2) George Washington, Peyton Randolph, John Marshall, James Madison

3) George Washington, Thomas Jefferson, James Madison, James Monroe

4) Peyton Randolph, Thomas Jefferson, George Washington, J ohn Witherspoon
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The Monroe Doctrine obliged ---------- .

1) the congress to ban the expansion on Communism in Europe

2) the congress for financial aids to make a united states of Europe

3) the pursuit of peace through a partnership with American allies under treaty commitments

4) the European powers to respect the Western Hemisphere as the United States' sphere of
interest

Who spoke about “A Model of Christian Charity” in 1630?

1) James Madison 2) John Winthrop

3) Samuel Adams 4) Thomas Jefferson

When was the Committee on Public Information (CPI) established in the United States?
1) First World War (1917-1919) 2) Second World War (1945)

3) The Cold War (1960s) 4) Post-September 11, 2000
Which US president instituted the New Deal?

1) John F. Kennedy 2) Herbert Hoover

3) Harry S. Truman 4) Franklin D. Roosevelt

Which of the following was an advantage for the South?

1) Better transportation 2) Higher population

3) More industry production 4) Fighting on their own territory
The treaty ending the Revolutionary War was the ---------- .

1) Treaty of Paris 2) Treaty of Britain

3) Treaty of Grenville 4) Treaty of Long Island

The Seccond Amendment to the US Constitution implies ---------- 2

1) right to keep arms

2) freedom of movement

3) freedom of speech and press

4) prohibition of government from establishing a religion

When and where was the first American bank, called Bank of North America, established?
1) 1850 - New York 2) 1781- Philadelphia

3) 1750 - Virginia 4) 1680 - Plymouth

What happened at the Second Continental Congress?

1) The Declaration of Independence was written.

2) The Emancipation Proclamation was written.

3) The Virginia Declaration of Rights was written.

4) The Constitution was written.

What did the Emancipation Proclamation do?

1) Ended World War I.

2) Gave women the right to vote.

3) Freed slaves in most Southern states.

4) Gave the United States independence from the Great Britain.

The Federal Writers Project (F.W.P.) Refers to the US government involvement in arts
and support of writers during ---------- ]

1) 1740s 2) 1860s 3) 1930s 4) 1960s
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HAFEIC¥: (Japanese Grammar)
191- BEIAIRFEHOZREZ LTS ( ) L BHELNRWVWEDSE,

1) #ric 2) Yz HHEY 4) &I
192- HL@RH Y EHAH, FHPIBRKTTOT, S HIZEDIZE~ ( .-

DFLIHEHBERFA /B EEINED ERA

3) I D LIFITIFIT e HIFDHEZATIEHD EHA
193- F7%BTRE ( ) 1T, REREBENOHTE T,

) L7EW )Y 3) bif 4) L
194- Va v EAiX, £5TrYTAD ( ) \ RV TEERET,

1) £oiZ DIFEHIZ NIENLDY HFRLELIIZ
195- HE~ ( ) bDeb, —EfTo TRV,

D ITHi 5 2)17< NITITD HIT>THD
196- {EEHHGE- = ( )« BERVBOFEREHE Do,

D HDOH )HDOD 3) DI 4) bLbDIETFIZ
197- WTAEOSELZE LR ( ) L DEVWHELTLES L,

H&oiz 2) &= AT 3) L kix 4) BT

FEHE L B (Vocabulary and Kanji characters)

198- FIDTRITHEICER -T2 L Zi1T, DT < ( ) Lk

1) AL 2) Bl 3) Bk 4) %@
199- WS HICLLTH, BEIX ( ) LBARERFLLBVET L,

DROS=Y ) 2 iFo&Y 3) T oD 4) Lonh
200- JERICRBRNE Sz, ( ) TBHIEBKEL,

1) P 2) FB5 3) T8 4) 718
201- A% ( ) BE&E ST Z L BREERLIELE,

DBLZLT 2)>< LT 3) ZTEMNLT 4) THHHET



202-

203-

204-

205-

206-

207-

208-

209-

210-

Y axivo 701F M) 05) Gl Sl
12X A2, BABEBXEOMRETIH L IIT2LOTNET,

HBEDHT 2) §1HT )NEZHT 4) BOHT
REOR TCHREOVDRAIIMEZITNE L,

1) FEik 2) e 3) Htig 4) #hit

A=W =ZD2DT7 7ANVERMA L TEST,

1) TAD 2)LxdHs 3) TAS HLxrH>"D
LETIIESLREEZIY £ Ln, HEIFATLE,

HWwILx9D 2)@HLw?d 3)LLw) 4HEoLwd

HASC{k & BESE  (Japanese Culture and History)

HAOEERNRIZ, WORBELLH,

1) 152 R~ 162K 2) 101f2~111#D

3) 18tk R ~191HAd 4) 7Hitd ~ 8 fitfd

R 44T L B ETIE E L,

) =B 2) 5T 3) Kk 4) AR
THEREL] DIEFIXTEND,

N A 2) 2 kT 3) K e 5 ZEWE
LAITF D &S B3 B &b F DR EE M,

1) B34 2) BIZR 2 % 3) Bz 4) 1Lz
HADESE TIX, LLTOEDORARNR LY EHV D,

1) ELEF 2) Mk 3) AT 4) FRBRE
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Which one of the South African liberation struggles’ leaders has quoted this very
famous and deep sentence?

“I learned that courage was not the absence of fear, but the triumph over it. The brave
man is not he who does not feel afraid, but he who conquers that fear.”

1) Chris Hani 2) Oliver Tambo

3) Desmond Tutu 4) Nelson Mandela

Which tribe belongs to South Africa?

1) Zulu 2) Wolof 3) Sukuma 4) Bambara
Angola and Mozambique gained their independence from ---------- in the mid-1970s.
1) Portugal 2) Germany

3) Netherlands 4) United States of America

Which politicians were clected as Namibia and Botswana first presidents after independence?
1) Hifikepunye Pohamba - lan Khama

2) Sam Nojoma- Seretse Khama

3) Nahas Gideon Angula- Festus Mogae

4) Hage Geingob - Mokgweetsi Masisi

What is the system of government in Lesotho?

1) Republic 2) Absolute Monarchy

3) Constitutional Monarchy 4) Parliamentary Republic

------- was nicknamed “The Warm Heart of Africa” because of the friendliness of its people.
1) Lesotho 2) Malawi 3) Zambia 4) South Africa
Which party has been the state party of South Africa since post-Aparthceid era?

1) National Freedom Party (NFP) 2) Inkatha Freedom Party (IFP)

3) African National Congress (ANC) 4) African Independent Congress (AIC)

The establishment of African Union (AU) replaced with African Unity Organization in

2002 was based on ---------- i

1) achieving greater unity and solidarity between the African countries.

2) defending the sovereignty, territorial integrity and independence of African countries.

3) Supporting the empowerment of African states in the global economy and address the
multi-layered social, economic and political problems facing the continent

4) all of them

Within the last and current decade, which country in Southern African region has been

under scvere and occasional attacks by a terrorist Islamist group?

1) Mozambique 2) Malawi 3) Zimbabwe 4) Angola
---------- enjoys the biggest sources of Uranium in Southern African region.
1) Namibia 2) Malawi 3) South Africa 4) Mozambique

Who are Mestizos?

1) Colored people who resulted through interracial relationships of Portuguese soldiers
and native people of Angola and Mozambique at the era of colonization of above-
mentioned countries by Portugal

2) Colored people who resulted through interracial relationships of British soldiers and
native people of Botswana at the era of colonization of this country by England.

3) Colored people who resulted through interracial relationships of Dutch farmers and
native people of South Africa at the era of colonization of this country by
Netherlands.

4) Colored people who resulted through interracial relationships of German people and
native people of Namibia at the era of colonization of this country by Germany.
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Though ---------- is now a political party but it was an armed rebel movement in central

Mozambique from 1977 to 1992 that waged a bloody and devastated civil war (backed

by then government of Rhodesia and later on Apartheid regime of South Africa) against

central government of Mozambique.

1) ZAPU 2) ZANU 3) UNITA 4) RENAMO

Which sentence is correct?

1) The definition of literature to native people of South Africa, before arrival of whites
was a broad term including rituals, curative chants, epic poems, musical genres, folk
tales, creation tales, songs, myths, legends, proverbs, riddles, tongue twisters, word
games, recitations, life histories or historical narratives.

2) The definition of literature to native people of South Africa, before arrival of whites
was just exchanging some legends and stories verbally

3) The definition of literature to native people of South Africa, before arrival of whites, was
based on exchanging news within local gatherings and communications.

4) The definition of literature to native people of South Africa, before arrival of whites
was just narration of some available written and oral poems as well as written texts.

Apart from South Africa, which other country in Southern African region imposed a

segregation system against its’ indigenous people at the time of white hegemony?

1) Lesotho 2) Malawi 3) Zambia 4) Rhodesia

Read the text and choose the correct phrase.

South Africa has seen one of the most dramatic transformations of its international

image and reputation in recent history. Until 1994, the nation governed under apartheid

rule, and widely condemned internationally a number of times for its violation of civil
libertics and widespread racial violence. Since becoming fully democratic, however,

South Africa has emerged as an international symbol of progress and leadershlp on the

African continent. Building on its political and social transformation and through

experiences gained during the time of liberation struggle, the country has been

revitalized to some extent and continues to cultivate an image as a moral and political
model for the rest of the Africa, as well as a powerful political player and a real and
practical paradigm in the global realm. These all are indebted to its logic ---------—- that

South Africa has implemented properly in post-Apartheid era, which is still going on.

1) Social Programs 2) Political Planning

3) Training Programs 4) Cultural Diplomacy

(Tl Sy obj ) 450 g,V 5 obj

A.DIL:

(I) Kiigiik Asya’nin en fark edilemeyen noktasi Anamur... (II) Dahil oldugu bdlgenin
sanki disinda, karadaki ada misali yalmz kalmis bir yer. (III) Hakkinda etrafh bilgi
cdinmek i¢cin kaynaklar1 karigtiran birine kiigiik ¢apta bir hayal kirikhgi da yasatabilir.
(IV) Ciinkii kesfedilmemis gibi gizemli. Kimsenin tammadlgl ama anlatacak ¢ok seyi
olan bir yabana gibi...

Bu par¢adaki numaralanmis ciimlelerle ilgili olarak asagida verilenlerden hangisi

yanhstir?

1) I. ciimlede derecelendirme zarfi vardir.
2) II. ciimlede sifat-fiil kullaniimagtir.

3) III. ciimlede kisi zamiri bulunmaktadir.
4) IV. ciimlede edat kullanilmistir.
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Asagidaki ciimlelerin hangisinde dolayh tiimle¢ vurgulanmistir?

1) Basin agiklamasi benim tarafimdan saat dokuzda yapilacak.

2) Isimiz oldukga ¢ok, evin boyasi da yapilacak.

3) Nagmelere gizlenmis duygular: ustalikla yansitiyor.

4) Filmi izlerken, 1970’lere, ¢ocukluk yillarina dondii.

L. Frank Baum, (I) bu diinyadan gegerken dyle derin (II) izler birakt: ki (III) yasamanin
dcgerini milyonlarca kez kamitlamis oldu. Bu 6liimsiiz yazarin (IV) eli degdigi anda
cocuk edebiyat1 yesermeye baslad.

Bu par¢adaki numaralanmis sézlerden hangisinde mecazh bir sdyleyis yoktur?

1)1 2)11 3) I 4H 1V

Asagidaki ciimlelerin hangisinde belirteg (zarf) yoktur?

1) Pastanenin dniinde bulugarak sinemaya gittik.

2) Bilingli, kisilikli gengler yetistirmek istiyoruz.

3) Seg¢imler, gegen y1l 3 Kasim'da yapildi.

4) Askerce selam verip gegti 6niimiizden.

“Riiyalar1 gerc¢eklestirmenin yolu, uyamivermektir uykulardan.” demis bir diigiiniir.
Oyleyse ne duruyoruz, hemen silkinip kalkalm yumusak yataklarimizdan!

Bu parcada, asagidakilerden hangisi yoktur?

1) Tezlik fiili 2) Zarf-fiil

3) Sifat-fiil 4) Istek kipiyle ¢ekimlenmis fiil

Yagmur yagarken gok giirlerse hi¢ korkmam. Ses olsun yeter ki. Kuslar otiiserek
ucussun gokyiiziinde. Caylar sekerli olsun ki kasiklar sikir sikir sesler ¢ikarsin.
Konusulacak bir seyler olsun. Dost olsun, arkadas olsun; teyzeler, amcalar olsun.
Evrenin bosluguna birakirken kendimizi, avu¢larimizda simsicak kalbimiz olsun. Olsun,
her sey olsun ama sessizlik olmasin.

Bu par¢anin anlatiminda asagidakilerden hangisi yoktur?

1) Nesnel bir anlatimdan yararlanma 2) Birden fazla duyuya seslenme

3) Pekistirmeye bagvurma 4) Devrik ciimleye yer verme

Klasik eserleri okumaya en ¢ok, kendi yazdiklarimi tekrar ettigimi hissettigim
zamanlarda ihtiya¢ duyarim.

Asagidakilerden hangisi bu ciimleye anlamca en yakindir?

1) Kimi eserlerin her donemde okunurlugunu siirdiirdiigii bilinir.

2) Bir yazarin, okuduklarindan etkilenmeden yazmas1 miimkiin degildir.

3) Her eser, baska metinlerden alinan pargalarla renklenen bir tablodur.

4) Cagin1 agmis eserleri okuma, yaraticilif1 besleyen bir etkinliktir.

I. Tiirkiye’de Tiirk¢e miizik daha fazla dinleniyor ve reklam verenler daha ¢ok Tiirkge
miizik yayin yapan radyolan tercih ediyor.

II. Tiirkiye’de yaymn yapan radyo kanallarinin ¢ogu yerli miizik yaymm yaparken
yabanci miizik yayim yapan kanal sayisi iki elin parmaklarini gegmiyor.

Numaralanmis I. ciimle ile ilgili asagidakilerden hangisi sdylenebilir?

1) II. ciimlede belirtilen durumun gerekgesini agiklamaktadir.

2) II. ciimlede ortaya konulan durumun kosulunu belirtmektedir.

3) II. cimledeki bilgileri farkli 6rnekler iizerinden degerlendirmektedir.

4) II. ciimledeki agiklamay ¢iirtitmek i¢in yeni bir bilgi sunmaktadir.



M)' WU&)U Qp}TMQ«jU -9 fww

VF axio 701F MY 09 e ol

279-

280-

281-

282-

283-

284-

285-

286-

(I) Tiirkiye’de baz alanlarda oldugu gibi yaymncihkta da ekonomik ve kiiltiirel pek ¢ok
sorundan s6z etmek miimkiin ama bu sorunlar, yaymalar dahil, kimin umurunda! (II)
Samirim, burada herkes sikdyet etmekten ve dinlemekten yoruldugundan birtakim
yanhslarin degismesi igin kiiciik de olsa bir seyler yapmak, ¢oziimler iizerine diisiinmek
gerek. (IIT) Butik yayincihigin islevi, tam da bu “bir seyler yapma” ihtiyaciyla ortiisiiyor.
(IV) Sadece onunla da degil; birey olmayla, edebiyat ve sanatin gegirdigi doniigiim ve
baska diinya arayislariyla da... (V) Yeri gelmisken iilkemizde, pek ¢ok konuda oldugu
gibi, butik yaymecihikla ilgili de bir kavram karmagasi bulundugunu belirtelim.

Bu par¢adaki numaralanmis ciimlelerin hangisinde 6neri vardir?

1)1 2)I1I 3) I 4H 1V

Iler zamanki gibi bir sabahti. O giin de yandaki tas binanin yiiksek tavanlarina ve
eskimis pencerelerinden odaya sizan renk renk 1siklara merhaba demisti.

Bu par¢ada asagidakilerden hangisi?

1) ilgi ekiyle tiiremis sifat 2) Ikilemeyle olugmus sifat
3) Sira say1 sifati 4) Isaret sifati
B. TARIII:

Asagidakilerden hangisi 3 Mart 1924 tarihinde yasanan gelismelerden biri degildir?

1) Ser'iye ve Evkaf Vekaletinin kaldirilmasi

2) Saltanatin kaldirilmasi

3) Erkéan-1 Harbiye-i Umumiye Vekaletinin kaldiriimasi

4) Diyanet Isleri Baskanliginin kurulmas:

1932 yilinda Tiirkiye'ye Milletler Cemiyeti'ne katilmasi Igin ¢agr yapilmasi
asagidakilerden hangisinin gostergesidir?

1) Hatay sorununun ¢6ziildiigiiniin

2) Sovyet Rusya ile yakinlasma oldugunun

3) Siyasi bagimsizligin tamamlanmak istendiginin

4) Yeni Tiirk devletinin barisg1 politikasinin benimsendiginin

Asagidakilerden hangisi Tiirk ekonomisini gelistirmek amaciyla yapilmis bir ¢aliyma
degildir?

1) Asar vergisinin kaldirilmasi 2) Tegvik-i Sanayi Kanununun ¢ikarilmasi
3) Devlet Konservatuarinin agilmasi 4) Devletgilik ilkesinin kabulii

TBMM’nin Kurtulug Savasi'nin sonuna kadar diizenli ¢cahsmasim1 ve siiratli karar
almasim saglayan ozelligi asagidakilerden hangisidir?

1) Ulke y6netimini elinde bulunduran tek organ olmas:

2) Laik diizene gegmeyi amaglamasi

3) Kurdugu hiikiimeti devam ettirmesi

4) Das iliskilerinde gii¢lii olma ilkesini benimsemesi

ABD'nin Orta Dogu'daki kontroliinii artirmak amaciyla Tiirkiye topraklarinda kurmak
istedigi fakat Tiirkiye'nin reddettigi ordunun adx nedir?

1) Kérfez Ordusu 2) Yildirnm Kuvvetleri

3) Birlesik Devletler Timi 4) Cevik Kuvvet

Asagidakilerden hangisi Mondros Ateskes Antlagsmasinin sonuglarindan biridir?

1) Ingilizlerin Musul'u isgal etmesi

2) Talat Paga Hiikiimeti'nin istifa etmesi

3) Mustafa Kemal Paga'nin 7. Ordu Komutanligina atanmasi

4) Itilaf Devletleri'nin Mebusan Meclisi'ni dagitmast
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asagidakilerden hangisi etkili olmustur?

1) Devletlerin bagimsizliklarin1 kazanmak istemeleri

2) Devletlerin ham madde ihtiyaglarim1 giderme yollar1 aramalari

3) Devletlerin sinirlarim1 genisletmeye ¢alismalari

4) Italya ve Almanya'nin giiglenmesi

sagidakilerin hangisiyle savaslar, devletlerin silahhi kuvvetlerinin karsihkh ¢arpismasi
seklinden gikip milletlerin topyekiin savas: haline gelmigtir?

1) Balkan Savasi 2) Otuzyil Savagslari

3) L. Diinya Savasi 4) Hagh Savaslari

Asagidakilerden hangisi Tiirk Medeni Kanunu'nun é6zelliklerinden biri degildir?
1) Kadin ile erkek arasinda sosyal ve ekonomik alanda esitlik saglamasi

2) Aile yasaminda esler arasinda esitlik saglamasi

3) Kisilerin, mal ve birbirleriyle olan iliskilerinin diizenlenmesi

4) Azinliklarin sahip oldugu ayricaliklara yer vermesi

NS b &) pprsseigguo Z1 )b
Who was Israel's first Prime Minister?
1) Golda Meir 2) Ben-Gurion
3) Yitzhak Rabin 4) Benjamin Netanyahu
The first country recognized the State of Israel was the --------- A
1) Soviet Union 2) United Nations
3) United States 4) United Kingdom
Has the UN Partition Plan ever been implemented?
1) No, it has never been implemented 2) Yes, it was implemented in 1956
3) Yes, it was partly implemented in 1948 4) Yes, it was totally implemented in 1947
In -------—-- y Israel occupied the West Bank and the Gaza Strip (along with Egypt’s Sinai
Peninsula and Syria’s Golan Heights).
1) 1948 2) 1956 3) 1967 4) 1982

Palestinians originally termed the destruction of their society and mass expulsions in
1948 ---------- .

1) the Nakba 2) Earth Day

3) Return Day 4) Independent Day

Which Organization has used and repeated the term of “Apartheid” many times in
describing Israel’s current rule over Palestinians?

1) UNESCO 2) Arab League

3) United Nations 4) Amnesty International

Does Israel have a written constitution?

1) No, not yet 2) There is no need

3) Knesset law is enough 4) Yes, it has a written one

When was the Oslo agreement signed?

1) 1982 2) 1991 3) 1993 4) 2000
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Which one is NOT among the founding fathers of Zionism?

1) Leo Pinsker 2) Israel Zangwill

3) Theodor Herzl 4) Haim Wiseman

Which country has more Jewish population?

1) Britain 2) Russia 3) South Africa 4) United States

According to Herzl, the boundaries of Greater Israel were --------- .
1) from South Lebanon up to Sidon and the Litani River

2) from the Brook of Egypt to the Euphrates

3) from Gaza to West Bank

4) none of the above

Who took over Palestine after the downfall of Ottoman empire?

1) America 2) Britain 3) Russia 4) Turkey

When was the Al-Aqsa mosque got fired and destroyed by an Australian Jew?

1) 1967 2) 1969 3) 1948 4) 1991

Which Arab countries normalise their relations with Israel after Abraham Accord?
1) UAE, Bahrain, Sudan, Morocco 2) Saudi Arabia, Oman, Iraq, Morocco
3) UAE, Oman, Kuwait, Sudan 4) Jordan, Syria, Lebanon. Tunis
When did Israel withdraw from the Gaza Strip?

1) May 1948 2) June 1991 3) September 2001  4) August 2005
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